e following observations are made on a 3-phase, 50-Hz,
Y-connected, 380 V rms line-to-line induction motor with negligible
stator wmdmg g resistance and core loss.

i) At no-load the motor is rotating at 745 rpm. :7 Nsyp=+50epr

ii) The stator can not be started with a heavy load, but it only starts
when the load torque is reduced to 236 Nm 93w

iii) When the motor is running at rated speed, the load is gradually —
increased and it is found that the rotor speed reduced down to 600 |

rpm, but after it decelerates and stops.
i %Or,w
b-c) Calculate the referred rotor resistance and total
leakage reactance (stator-+rotor)?
2) Number & pdes 2 50Hz > 2pole 3 'Z,DF'C =y B0 rpm
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d) If the rotational ﬁ;wer is 1518 W, find the air-gap power, rotor
copper loss, internal mechanical power and the net output power
when the rotor/is rotating at 712.5 rpm
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